


- —d n‘t\m

sie-
i Migebra (ive a remsam for €358 PR 5
_smp (GiveR ,;4-:5--4 T
S s Ea == kT
fhe=5)=2 R --§
T = Iu-m h-._h- x - —
cm =l
Example 1 hhmﬁ'w-’ ..H_“...ﬂ-ma-lu
Do) g rmsZ 1 5T = OR. then QR = 5T,
7. 0012y = B4 thenx = T & e XY
o T 12 KL = MN.then MN = K,
LL If 3k + 14 = B0, then dx = 66
1% N2t + y = Sandy = yitheaZr t £ =5
I I[AB - BC = 12 then AR = 12 + BC.
15, If 21 = o2and 22 = 20 then £1 = £3.
I Addstion Property of Equality 17, Subtraction Property of Equality
Hir— 5= [ ihem2r = T IfZx + 6= 2. then 2 = 5,
1K Symmsctric Property of Equality 9. Symmetric Property of Congruence
AR = ¥ iben _T. el e 2K then T = LM,
M. Reflexnve Property of Congreence 2L Disiributive Properiy
LPORm T Hj‘ =)= ix - __l
LM = Tamd EF + LM = NP,then 7 = NP
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W 27. Algebra Fillin the reason that justifics cach step. | \]
"l Ty 4 3 -

Ghwen: ¢ i the midpoint of AT e - 5
€ the midpoien of A5, w7 8 '
AC = CD h YT |
dr = 2y + 12 e L
i = |3 ik
- e 1
' Math '] 28, Algebra In the figure st the right, KM = 35 =i e
'ﬂ 8. Salve for x. Justily cach step. Kk L M
partalp whth resitnd b. Find the length of KL
wep ¥ ] 29, Algebra In the figure at the right,me GFF = 128 g% oo
it #. Solve for o Justify each step.
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L] M. Algebra Fill in the reason that justifics cach stcp
Given: B¢’ bisccts £ ABD.

B bisects £ ARD. [ S
miABRC = moCRD ot
fia 4+ | = dn £ 19 581
In = 18 a.r
=9 [ S

o Challenge 11 Erver Analysls The steps below “show™ that | = 2 Find the errof.
Givenm: ¢ = b

a =k Cidven

ab = & Multipdication Property of Equality
ab -l = - & Subtraction Property of Equality
a(b — a) = (b + ap(b — @)  Dustributive Property

a=h+a Dyiviwion Property of Equality

a=d+a Substitution Propeny

a= 2r

=32



